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‘timescale
‘define

1ns/ 100ps
AssertionFlag 1'b 1

‘define esterel STRING [ 10*8: 1]
‘define esterel | NTEGER [ 31: 0]
‘define est er el BOOLEAN

‘define esterel LOG C

‘include " ABRO_data_type_pkg-v

nmodul e ABRO_abro_tb;
reg stop;
reg ‘esterel STRING Assertion;
reg [31:0] terrporaryon putFile;
paraneter Delay = 10;

‘include
‘include

" ABRO_data_pkg.V
" ABRO_data_sim_pkg:v

reg
reg
reg
reg
reg
reg
reg
wre *
wire ‘

‘esterel LOG C sig_clk;

‘esterel LOGC sig_rst;

‘esterel LOGC sig_A

‘esterel STRING sig_Adata;

‘esterel LOG C sig_B;

‘data sig_Bdata,

‘esterel LOG C 5|g R;

esterel LOGC sig_Q
data sig_Odata;

task WiteLogQutputs;
input ‘esterel LOGC sig_O
input ‘data sig_Odata;

gqbegn
i

tenmporaryQut put File, "%% Output: =\"%sY", data_to_text(sig_

Qdata)) ;

end
endt ask

initial sig_clk =1'b 0;
al ways #(Delay / 2) begin
if (stop) begin
sig_clk <= 1'b 0;
di sabl e SCENARI O
end el se begin
sig_clk <= ~sig_clk;
end
end

ABRO COVP (
.clk(sig_clk),
.rst(sig_rst),
LA(Sig_A),
.Adata(5|g Adat a) ,
.B(sig_B),
.Bdata(5|g Bdat a) ,
.R(sig_R)

.Q(sig O,
. Odat a(si g_Odat a)

)
initial
begin : SCENARI O
tenmporaryQut put Fi | e = $f open( " record_abro.e$q ;
stop = 1'b 0
Assertion = NOTE
$f di spl ay(tenporaryQutputFile, "%% -———=
/I File record_abro.eso generated from Esterel module ABRO.
$f di spl ay(t enporaryQut put Fil e, " %% File record_abro.eso generated from Esterel mod
ABRO.") ;
$f di spl ay(tenporaryQutputFile, "%% -———- )
IIRST /I
sig_rst <= 1'b 1;
@ posedge sig_clk);
$f di spl ay( tenporaryQutputFile, "!reset));
sig A<=1b1
sig_Adata <= "1"
A=\

$f di spl ay( terrporarycut putFile,
sig_rst <= 1'b 0;

sig_.B<=1b0;

sig_R<=1b 0;

/I Sync on CLK rising edge //

@ posedge sig_clk);

$f di spl ay( tenporaryQutputFile,
/I Log outputs to file //
WiteLogQutputs( sig_O sig_Odata
$f di spl ay( tenporaryQutputFile,
/I Outputs checking //

" %% Cycle 1) ;
" )u
")

M
/I CLK cycle number: 2 //
T
" Inputs |n|t|a||zat|on I
sig_B 1;
if (! check dat a( premier tiragé) ) begi n
stop <=
$f di spl ay( terrpor aryQut put Fi | e, "bad user type value checked, in file abro.esi, ling
$f cl ose(t errporarycut put File);
Assertion <= "FA|
$stop;
end el se begin
sig_Bdata <= text_to_data(" premier tirage) ;

$f di splay( tenporaryQutputFile, "B=\"premiertirage\");
b 0O;

sig_rst <= 1’ i
sig_A<=1b 0;
sig_R<=1b 0;

ule

N
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/I Sync on CLK rising edge "

@ posedge sig_clk

$f di spl ay( tenporaryon putFile,
/I Log outputs to file //
WiteLogQutputs( sig_O
$f di spl ay( tenporaryQutputFile,
/I Outputs checking //

" %% Cycle 2) ;

sig_Odata);
" ,.);

T
/I CLK cycle number: 3 //
T
/I Inputs initialization //
sig_A<=1hb 1;
sig_Adata <= "2";
$f di spl ay( tenporaryon putFile,
sig_rst <= 1'b 0;
sig_ B<=1b 0;
sig_R<=1b 0;
/I Sync on CLK rising edge //
@ posedge sig_clk);
$f di spl ay( tenporaryQutputFile,
/I Log outputs to file //
WiteLogQutputs( sig_O sig_Odata);
$f di spl ay( tenporaryQutputFile, ";"),
" Outputs checking //

A=V

" %% Cycle 3) ;

M
/I CLK cycle number: 4 //
s
I Inputs initialization //
sig B<=1hb1;
if (!check_dat a( second tiragk) ) begi n
stop <= 1’
$f di spl ay( t errpor aryQut put Fi | e, "bad user type value checked, in file abro.esi, lihg
$f cl ose(t enporaryQutputFile);
Assertion <= "FAILURE";
$st op;
end el se begin
sig_Bdata <= text_to_data("second tirage) ;
end
$f di spl ay( tenporaryQutputFile,
sig_rst <= 1'b 0;
sig_A<=1b 0;
sig_R<=1b 0;
/I Sync on CLK rising edge //
@ posedge sig_clk);
$f di spl ay( tenporaryQutputFile,
/I Log outputs to file //
WiteLogQutputs( sig_O
$f di splay( tenporaryQutputFile,
I Outputs checking //

B =\"second tirage\") ;

" %% Cycle 4) ;
sig_Odata);

i
/I CLK cycle number: 5 //
M

[«

n Inputs initialization //
if (‘AssertionFlag) b
if (!(((sig_Adata

sig_| B—— 1'b 1))) begln

1) &
$fd|sp|ay(tenporaryOJtputFlIe %% %696%%6%%6%

1%% NOTE Break pomt reac

ed\n

©0%%%%%Y %%

%% file 'abro.e5|'\n%% Ilne '8'\n%% %%%%%%Y

¥
= "NOTE";

Assertion
end

end
sig R<=1b 1;
$f di spl ay( tenporary(ln putFile,
sig_rst <= 1'b 0;
sig_A<=1b 0;
sig_ B <=1b 0
/I Sync on CLK rising edge //
@ posedge sig_clk);
$f di spl ay( tenporaryQutputFile,
/I Log outputs to file //
WiteLogQutputs( sig_O sig_Odata
$f di spl ay( tenporaryQutputFile,
/I Outputs checking //

"R

" %% Cycle ) ;
" )u
)

s
/I CLK cycle number: 6 //
T
i Inputs initialization //
1A (\"3\);
$f di spl ay(tenporaryQutputFile,
/I B (\"troisieme tirage\");
$f di spl ay(tenporaryQutputFile,

o506 A ("3V)) ;
" %% B (\"troisieme tirage\"};) ;
stop = 1'b 1;

$f cl ose(tenporaryQutputFile);

$st op;

end
endnodul e
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